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Answer any five questions
- All questlons carry equal marks
l.a) . Explain, BCD codes Exces)s(3 code, Gray code “and ASCII codes used in d1g1ta1 :
- systems. - T o

b)  Write about error detecting codes and error con'ectmg codes used in dlgltal -

_ systems. -

c)s: Converls -

' i) 68BE s to Blnary and then Octal - '

ii) Convert 34510 to binary and hexadecimal. ' [5+5+5]

2.a)" Explalh the axibfhatic defini
variables.

b) Express the Boolean funct

- ¢)yy Explain the characterle}{.-

CDTIL . 1) ECL

%oclean ‘dlgebra by taking two and thiée

111 a product of maxterm form

3.‘a)w

ions, usmg a four varlable Kamaugh map
;Efinctlon using NAND gates.

4.a) Explain the design

code converter and

b):: Draw sthe circuit: -diagr:
takmg suitable examples.

¢}  Explain the working of a 3 to § decoder with the help of neat diagram. [5+5+5]

5.2) Drawithe logic dlagram of” sequencé: detectoFwith D ﬂlp—ﬂops and explainiits
' operation with help of state table and state diagrams.

b)  Design a logic diagram for a 3 bit binary counter using T flip-flops and write its

- ... state table and state dlagram and wnte the HDL, descrlptlon of the c11:cu1t diagram.

e [7+8]

6.a) Draw the logic diagram of 4 bit UP/DOWN counter and wnte its HDL behav1oral

-z and structural deseriptions.:s:
b) De31gn a binary counter with the follomng repeated bmary sequence 0 L2, 4 6
using JK flip-flops. ‘ [7+8]

P




7-355-5? i

What ‘are PLAs"Explamthe functions and apphcatlons of PLAS in memory
addressing and implement the following two Boolean functions with a PLA.:
Fi(d4,B C)=3%(012 4

o FABC) =305 67 e

Explam the Procedure for error detection and correct1on usmg Hamnnng code and

. given an 8 bit data word 01011011 generate the 13 bit composite word that

N corrects smgle error and detects double errors. . [7+8]

8.a)

When d1d race condltlon occurs in asynchronous sequentlal clrcults? Explam the

~noncritical and critical race conditions with typical examples.

‘Write about hazards in asynchronous logic cirguits. Destgn a cncu;t that has 10
" static hazards and implements the Boolean function o
FA,BCD)=%(026781012). - ' [7+8]
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